

	Reg. No.	Non-co	onventiona	l Energy S				
			GE	113		m . 1		Grade Point
Sr.			Credit I	Hours- 3		Total Registered	<b>Total Point</b>	
No	Reg. 140.	Grade Awarded	Earned Credits	Grade Points	Point Secured	Credit	Secured	Average
1	151074	A+	3.00	10.00	30.00	3.00	30.00	10.00

Prepared By Date of Issue: 10.11.2020

> Checked By Controller of Examination



# Reappear Grade Sheet of B\_Tech EE\_4th\_Semester\_October 2020

		F	Engineerin	g Graphic	es	F	Persona Er	hancemei	nt			
				115				202		Total		Grade
Sr.	Reg. No.		Credit Hours- 33				Credit 1	Hours- 1		Registered	Total Point	Point
No	J	Grade Awarded	Earned Credits	Grade Points	Point Secured	Grade Awarded	Earned Credits	Grade Points	Point Secured	Credit	Secured	Average
1	151074	A	3.00	9.00	27.00	C+	1.00	6.00	6.00	4.00	33.00	8.25

Date of Issue: 10.11.2020 Prepared By Checked By Controller of Examination



	Sr. No Reg	Dog No.	Persona l	Enhancem	ent / Apti				
				PE-	301		m . 1		
				Credit I	Hours- 1		Total Registered	<b>Total Point</b>	Grade Point
		Reg. No.	Grade Awarded	Earned Credits	Grade Points	Point Secured	Credit	Secured	Average
	1	150560	C+	1.00	6.00	6.00	1.00	6.00	6.00

Prepared By Date of Issue: 10.11.2020

> Checked By Controller of Examination



### Reappear Grade Sheet of B\_Tech EE\_6th\_Semester\_October 2020

			Spi	rint				
Sr.			Credit I	- Hours- 1		Total	Total Point	Grade
No	Reg. No.	Grade Awarded	Earned Credits	Grade Points	Point Secured	Registered Credit	Secured	Point Average
1	151074	C+	1.00	6.00	6.00	1.00	6.00	6.00

Date of Issue: 10.11.2020 Prepared By

Checked By Controller of Examination



# Reappear Grade Sheet of B\_Tech EE\_7th\_Semester\_October 2020

		Values and Ethics				Electrical Measurement and Measuring Instruments			Persona Enhancement/Aptitude Course							
			OE	013		EE-409			PE – 401				Total			
Sr.	Dog No	Credit Hours- 3				Credit Hours- 3				Credit Hours- 3				Total Point	Grade Boint	
No	Reg. No.	Grade Awarded	Earned Credits	Grade Points	Point Secured	Grade Awarded	Earned Credits	Grade Points	Point Secured	Grade Awarded	Earned Credits	Grade Points	Point Secured	Registered Credit	Secured	Point Average
1	150560	D	3.00	4.00	12.00		N	.A		C+	3.00	6.00	18.00	6.00	30.00	5.00
2	151074		N	.A		A	A 3.00 9.00 27.00			C+	3.00	6.00	18.00	6.00	45.00	7.50

Date of Issue: 10.11.2020 Prepared By Checked By Controller of Examination



# Reappear Grade Sheet of B\_Tech EE\_8th\_Semester\_October 2020

			Sex Ed	ucation			Sp	rint				
			OE	010			PE -	- 402				
Sr.	Sr. Dec No Credit He						Credit l	Hours- 1		Total	Total Point	Grade Point
No	Reg. No.	Grade Awarded	Earned Credits	Grade Points	Point Secured	Grade Awarded	Earned Credits	Grade Points	Point Secured	Registered Credit	Secured	Average
1	150560	D	3.00	4.00	12.00	C+	1.00	6.00	6.00	4.00	18.00	4.50
2	151074	В	3.00	7.00	21.00	N.A				3.00	21.00	7.00

Date of Issue: 10.11.2020 Prepared By Checked By Controller of Examination

